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sketch_rr fi==
/FFoseT iRz ifjresults.wvalue OxFFa867 ) {
//FFBOAF 12883 Serial.println(™Turn off!™);
A/FFE807  iEEL s
int const trigPin - 13: enable_us_sensor = true; // RiFi@ESHEESR
inrt const echoPin = 127
int Duration; }
int Distance: irrecv.resune (] ;
#include <Serwvo.lh- }
Servo mySerwvo: }

#include <IRremote.bh:|

e Areoe RECY_pIN) ; £/ AL

decode_results resules: unsigmed long us currentMillis = millis();
hool enable_us_sensor =true -
unsicned long ir_previousMillis = 0; if (enable us_sensor && Us_currentMillis - us_previousMillis »>= us_interwval) |

const long ir_interwal = 100; s/ SEFEELFHEREEFEER EERAAIFREARE . Milli _ tMillis:
unsigned long us_previousNillis = O; us_prewviousldillis = us currentliillis;
const long us_interwal = 1000: /7 FRIEAEEEEELMEAEEIREIRFRIEIR digitallrite{trigPin, HIGH):
woid setup i) { delayMicroseconds (10) ;
Serial.bhegin (96000 7 - . . . .
mymervo. atiach (2] digitalWrite(trigPin, LOW);
w¥servo.write (0] Duration = pulselnf{echoPin, HIGH);
irrecw.enableIRIni) ; . . .
pinMode {trigPin, OUTEUT) : Distance = Duration 0,034 /22
pinMode {echoPin, THEUT); Serial.println(Distance);

B
ifibistance <= 66 | {

a1 i
wvoid losp() { wyservo.write (180 ;

£ BLFHR SRR

unsigned long ir_currentMillis = millis():
if [(ir_currentMillis - ir prewviousMillis »>= ir_interwal) {
ir_prewviousMillis = ir_currentMillis: }
if {irrecw.decode(sresults)) {
Serial.printlniresults.value, HEX):
if{results.value == OxFFEO4F ) { if(bistance == &6 | {
Serial.println(”Turn 0n!'!"™):
momeron it 1onyy delay(1000) ;
enahle_us_sensor = false; // SEFIEEERIEELREEE wyservo.write (0] ;
¥
if{results.wvalue == OxFF&897 1 { }
Serial.println(“Tucn oEE£'™): 3

myservo.write (0] :

enable_us_sensor = false; // RRFI#EEEIEEMEEE 3
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